@ @ é Multiply decimals by powers of ten

Name: Date: Score:
3.916 x 100 = 9.661 x 1000 =
7.94 x 100 = 4.267 x 10000 =
5.868 x 10000 = 6.607 x 1000000 =
3.495 x 100 = 10.921 x 100 =
4.53 x 1000000 = 1.751 x 10000 =
8.303 x 1000 = 5.71 x 1000 =
5115 %10 = 2.132 x 100 =
2.663 x 1000 = 5.601 x 10 =
10.543 x 100 = 6.891 x 10 =
4.046 x 100 = 8.57 x 100000 =
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Multiply decimals by powers of ten

3.916 x 100 = 391.6

7.94 x 100 = 794

5.868 x 10000 = 58680

3.495 x 100 = 349.5

4.53 x 1000000 = 4530000

8.303 x 1000 = 8303

5115 x10=51.15

2.663 x 1000 = 2663

10.543 x 100 = 1054.3

4.046 < 100 = 404.6

Date: Score:

9.661 x 1000 = 9661

4.267 x 10000 = 42670

6.607 x 1000000 = 6607000

10.921 x 100 = 1092.1

1.751 x 10000 = 17510

5.71 x 1000 = 5710

2.132 x 100 = 213.2

5.601 x 10 = 56.01

6.891 x 10 = 68.91

8.57 x 100000 = 857000
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